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Attempt All the questions.
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I. {a) " Define investment. How does.inflation affect investment

6

r

decisions ? Give examples.
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Mr. Y has purchased shares at ¥ 100 each five years ago.
The market price at the end of the year and dividend during

the year are given below, Find average rate of return and

the risk of security. ' 9
Year Dividend ) Market Price .(?‘)

| 5 105

2 6 ' 120

3 '6 124

4 | 4 130

S 3 140
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(@) Name the important participants of security market.
Explain any fwo of them in brief. 6

(b) . The following two securities have been shortlisted by

. investor :
Return on Seéurity | Probability
X | Y | |
0% % 4
5% - % 4
% % 2
Which security should be se!ecte;:l and why 7 - 9
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Differentiate between : 6
() Callable and putable bond

(i) Open ended and close ended scheme of Mutural Fund.

A Co. issued 12% bonds with 3 years maturity. Bond is

redeemable at par at ¥ 1,000. What would be the value

of this bond assuming interest is paid ‘ 9

A9 Annually

(if) Semi-annually ?

fave =i

@ R R ﬁwfﬁm Y-

() T WUE Ht §gd R fagw drend
@mﬁﬁwﬁaﬁqﬁmaﬁ 12% FY-T

WWIW—W?IOOQW.WWW%I
W TY-TF H R P &, S A

() =it w9 F fe s,
(1) AG-aF femn smam 2
Or
(3rg=m

Define risk. Explain the various sources of risk. 6
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An investor has the following information of a bond :

Face value : | .2 10,000

* Coupon rate ;  10%
Market price : % 10,500
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Find the yield to maturity, yield to call if callable in 5 years
at ¥ 10,800. ’ ' 9
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Write the procedure for transacting in depository system

in brief and mention its advantages to the company. 6

Mr. A wants to invest T 1.00.000 equally in the following*

securitics

8% Debentures of XYZ Ltd. and equity shares of an Indian
Co.
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() What should be return on equity shares so that he

can earn overall return of 12% ?

{if) If the risk of debenture is 4% and that of share is
4%, coefficient of correlation between these two

)

securities is 0.8, find the risk of such portfolio. 9
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“All efficient portfolio z;re feasible but all feasible port-

folios are not efficient.” Do you agree ? Explain in the

context of Harry Marcowitz Model). 6
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&)  Mr. Zhas sefected 2 securities, A and B, for his portfolio.

The following information is provided by him :

Security Expected Return . Std. Deviation
A 10% 5%
B 15% %

If he invested 40% of his fund in A and 60% in B, find

the return of portfolio.

Also find the maximum and minimum risk of such port-

"~ folio. .8
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*Fundamental Analysis is more important tool for mves-
tor than the technical analysis.” Do you agree ?

Comment. ' 6

Mr. B purchased 3 months call option of 100 shares of
Bharti Airtel at a strike price of ¥ 300 per share and paid
a premium of ¥ 30 ber share. Find his expected gain or

loss if the actual price on expiration date is :

() 2 250;

(if) T 350.

Also find his break-even point with the help of pay-off
(diagram}. 9
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Define futures. How do they differ from forward

contracts ? 6

Ms. Sheela, an investor, is holding a security offering 16%
retum. If the return on risk free asset is 7% and on market
index is 15%, advice her, on the basis of CAPM to hold

or not to hold security if systematic risk is
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Write short notes on : 6
(f) Support and Resistance Level;
(if} Features of Mutual Fund.

A firm is currently paying a dividend of T 2 per share.
The rate of dividend is expected to grow @ 5% for first
five years and 10% thereafter forever. Find the value of

the share, if the required rate of return of investor is 15%. 9
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Discuss the role of SEB! in protecting the interest of
investors in brief, 6
Mr. Sunil has required rate of return of 16%. He has made
investment in the shares of ABC Ltd. Using Gordon model,
find the value of share if ;
Earning per share (EPS) = ¥ 10,
Rate of return on Reinvestment (ROI) = 20%.
Retention ratio is : 9
(i 0%
(i) 40%
(i) 60%.
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